ORD #1732-2018, Division of Water Sale Road Area Water Line Improvements C.I.P. No. 690236-100079, Contract No. 2054 Bid Tabulation, Opened 6/6/18

					Engineer's Estimate		Elite Excar	<mark>vating Co. of</mark>	Cohio, Inc.
Ref#	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension
1	254	Pavement Planing, Asphalt Concrete	21,002	SY	\$2.25	\$47,254.50	\$1.95	\$1.30	\$68,256.50
		Driveway Pavement Replacement, Type IIIA							
2	259	(Asphalt)	72	CY	\$550.00	\$39,600.00	\$180.00	\$120.00	\$21,600.00
		Driveway Pavement Replacement, Type IIIA							
3	259	(Asphalt), As Per Plan	6	CY	\$550.00	\$3,300.00	\$180.00	\$120.00	\$1,800.00
		Driveway Pavement Replacement, Type IIIB							
4	259	(Concrete)	13	CY	\$750.00	\$9,750.00	\$360.00	\$240.00	\$7,800.00
		Driveway Pavement Replacement, Type IIIC							
5	259	(Gravel)	93	CY	\$175.00	\$16,275.00	\$36.00	\$24.00	\$5,580.00
6	407	Tack Coat	3,150	GAL	\$2.75	\$8,662.50	\$1.50	\$1.00	\$7,875.00
		Asphalt Concrete Surface Course (Medium							
7	448	Traffic), PG64-22	876	CY	\$200.00	\$175,200.00	\$102.00	\$68.00	\$148,920.00
8	608	Concrete Walk (4")	1,997	SF	\$12.00	\$23,964.00	\$7.00	\$5.00	\$23,964.00
9	614	Maintaining Traffic	1	LS	\$85,000.00	\$85,000.00	\$17,000.00	\$11,000.00	\$28,000.00
10	615	Temporary Pavement	5,008	SY	\$5.00	\$25,040.00	\$13.00	\$9.00	\$110,176.00
11	632	Loop Detector, As Per Plan	6	EA	\$1,500.00	\$9,000.00	\$1,440.00	\$960.00	\$14,400.00
12	659	Seeding and Mulching	2,448	SY	\$10.00	\$24,480.00	\$3.00	\$2.00	\$12,240.00
13	801	4" Water Pipe and Fittings	9	LF	\$95.00	\$855.00	\$180.00	\$120.00	\$2,700.00
14	801	6" Water Pipe and Fittings	536	LF	\$110.00	\$58,960.00	\$76.00	\$51.00	\$68,072.00
15	801	8" Water Pipe and Fittings	16,773	LF	\$110.00	\$1,845,030.00	\$58.00	\$39.00	###########
16	801*	Ductile Iron Fittings, Increase or Decrease	4,500	LBS	\$2.75	\$12,375.00	\$0.60	\$0.40	\$4,500.00
17	801*	Concrete Blocking Class C, Increase or Decrease	100	CY	\$115.00	\$11,500.00	\$30.00	\$20.00	\$5,000.00
18	802	6" Valve and Appurtenances	38	EA	\$1,375.00	\$52,250.00	\$900.00	\$600.00	\$57,000.00
19	802	8" Valve and Appurtenances	27	EA	\$1,650.00	\$44,550.00	\$1,140.00	\$760.00	\$51,300.00
20	805*	Curb Box	438	EA	\$105.00	\$45,990.00	\$300.00	\$200.00	\$219,000.00
21	805	3/4" Water Service Tap, Transferred, Long	208	EA	\$1,850.00	\$384,800.00	\$810.00	\$540.00	\$280,800.00
22	805	3/4" Water Service Tap, Transferred, Short	228	EA	\$1,350.00	\$307,800.00	\$780.00	\$520.00	\$296,400.00
23	805	1-1/2" Water Service Tap, Transferred, Short	2	EA	\$1,500.00	\$3,000.00	\$1,260.00	\$840.00	\$4,200.00
24	807*	C.I. Ferrule Valve Box and Cover	11	EA	\$100.00	\$1,100.00	\$300.00	\$200.00	\$5,500.00
25	809	Fire Hydrant	37	EA	\$2,800.00	\$103,600.00	\$1,800.00	\$1,200.00	\$111,000.00
26	810*	6" Hydrant Extensions	5	EA	\$450.00	\$2,250.00		\$160.00	\$2,000.00

					Engineer's	Estimate	Elite Excar	vating Co. of	Ohio, Inc.	
Ref#	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension	
27	810*	12" Hydrant Extensions	10	EA	\$1,000.00	\$10,000.00	\$270.00	\$180.00	\$4,500.00	
28	810*	18" Hydrant Extensions	5	EA	\$1,500.00	\$7,500.00	\$300.00	\$200.00	\$2,500.00	
29	810*	24" Hydrant Extensions	5	EA	\$1,800.00	\$9,000.00	\$330.00	\$220.00	\$2,750.00	
30		Increase or Decrease In Excavation and Backfill	150	CY	\$50.00	\$7,500.00		\$6.00		
31	815	Crushed Stone or Gravel	92	CY	\$65.00	\$5,980.00	\$27.00	\$18.00	·	
32	Special	Sediment and Erosion Control	1	LS	\$12,500.00	\$12,500.00		\$1,200.00	·	
33	Special	Temporary Seeding	2,448	SY	\$1.75	\$4,284.00	\$2.00	\$1.00	\$7,344.00	
34	Special	Permanent Pavement	1,392	CY	\$200.00	\$278,400.00	\$198.00	\$132.00	\$459,360.00	
35	Special	Heat Welding	222	SY	\$75.00	\$16,650.00	\$72.00	\$48.00	\$26,640.00	
36	Special	Survey Coordinates	1	LS	\$18,000.00	\$18,000.00	\$9,000.00	\$6,000.00	\$15,000.00	
37	Special	Project Identification Signs	9	EA	\$750.00	\$6,750.00	\$300.00	\$200.00	\$4,500.00	
		SUBTOTAL:				\$3,718,150.00		\$	3,717,048.50	
38	SPEC	CONTINGENCY (10%)				\$371,815.00			\$371,704.85	
		GRAND TOTAL:				\$4,089,965.00	\$4,088,753.35			
% DIFFERENCE FROM ENGINEER'S ESTIMATE									-0.03%	
% DIFFERENCE WITHIN LOWEST BIDDER									n/a	
		Contract Compliance No.					20-1643186 (6/22/19, MAJ, 1064)			

MBE: Bridges Bros.	
Trucking	1.3%
FBE: K. Davis	1.0%

Elite Excavating Co. of Ohio, Inc. 4500 Snodgrass Rd.
Mansfield, OH 44903
(Michael) Scott Fulmer - President Dale A. Stevens, Secy (419) 683-4200
eliteexcavating@aol.com
Patricia (Trish) Ann Fulmer, V.P./

ORD #1732-2018, Division of Water Sale Road Area Water Line Improvements C.I.P. No. 690236-100079, Contract No. 2054 Bid Tabulation, Opened 6/6/18

					Engineer's Estimate		Sh	elly & Sands,	Inc.	
Ref#	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension	Materials
1	254	Pavement Planing, Asphalt Concrete	21,002	SY	\$2.25	\$47,254.50	\$0.00	\$3.25	\$68,256.50	\$1.04
		Driveway Pavement Replacement, Type IIIA								
2	259	(Asphalt)	72	CY	\$550.00	\$39,600.00	\$137.50	\$137.50	\$19,800.00	\$87.64
		Driveway Pavement Replacement, Type IIIA								
3	259	(Asphalt), As Per Plan	6	CY	\$550.00	\$3,300.00	\$240.00	\$240.00	\$2,880.00	\$152.88
		Driveway Pavement Replacement, Type IIIB								
4	259	(Concrete)	13	CY	\$750.00	\$9,750.00	\$300.00	\$300.00	\$7,800.00	\$121.52
		Driveway Pavement Replacement, Type IIIC								
5		(Gravel)	93	CY	\$175.00	\$16,275.00			\$11,160.00	
6	407	Tack Coat	3,150	GAL	\$2.75	\$8,662.50	\$1.25	\$1.25	\$7,875.00	\$0.80
		Asphalt Concrete Surface Course (Medium								
7		Traffic), PG64-22	876	CY	\$200.00	\$175,200.00	\$85.00	\$85.00	\$148,920.00	\$59.92
8		Concrete Walk (4")	1,997	SF	\$12.00	\$23,964.00	\$5.00	\$5.00	\$19,970.00	\$3.64
9	614	Maintaining Traffic	1	LS	\$85,000.00	\$85,000.00	·	\$314,000.00	\$374,000.00	•
10	615	Temporary Pavement	5,008	SY	\$5.00	\$25,040.00	\$0.50	·	\$5,008.00	\$0.32
11	632	Loop Detector, As Per Plan	6	EA	\$1,500.00	\$9,000.00	\$1,087.50	\$1,087.50	\$13,050.00	\$691.60
12	659	Seeding and Mulching	2,448	SY	\$10.00	\$24,480.00	\$4.75	\$4.75	\$23,256.00	\$0.99
13	801	4" Water Pipe and Fittings	9	LF	\$95.00	\$855.00	\$122.50	\$122.50	\$2,205.00	\$120.40
14	801	6" Water Pipe and Fittings	536	LF	\$110.00	\$58,960.00	\$57.50	\$57.50	\$61,640.00	\$33.88
15	801	8" Water Pipe and Fittings	16,773	LF	\$110.00	\$1,845,030.00	\$52.50	\$52.50	\$1,761,165.00	\$35.56
16	801*	Ductile Iron Fittings, Increase or Decrease	4,500	LBS	\$2.75	\$12,375.00	\$1.45	\$1.45	\$13,050.00	\$1.36
17		Concrete Blocking Class C, Increase or Decrease	100	CY	\$115.00	\$11,500.00	\$58.64	\$58.61	\$11,725.00	\$43.68
18		6" Valve and Appurtenances	38	EA	\$1,375.00	\$52,250.00	\$500.00	\$500.00	\$38,000.00	\$412.16
19	802	8" Valve and Appurtenances	27	EA	\$1,650.00	\$44,550.00	\$650.00	\$650.00	\$35,100.00	\$497.56
20	805*	Curb Box	438	EA	\$105.00	\$45,990.00	\$40.00	\$40.00	\$35,040.00	\$33.88
21	805	3/4" Water Service Tap, Transferred, Long	208	EA	\$1,850.00	\$384,800.00	\$875.00	\$875.00	\$364,000.00	\$525.00
22	805	3/4" Water Service Tap, Transferred, Short	228	EA	\$1,350.00	\$307,800.00	\$725.00	\$725.00	\$330,600.00	\$379.96
23	805	1-1/2" Water Service Tap, Transferred, Short	2	EA	\$1,500.00	\$3,000.00	\$1,375.00	\$1,375.00	\$5,500.00	\$554.40
24	807*	C.I. Ferrule Valve Box and Cover	11	EA	\$100.00	\$1,100.00	\$37.50	\$37.50	\$825.00	\$56.56
25	809	Fire Hydrant	37	EA	\$2,800.00	\$103,600.00	\$1,450.00	\$1,450.00	\$107,300.00	\$603.96
26	810*	6" Hydrant Extensions	5	EA	\$450.00	\$2,250.00	\$342.50		\$3,425.00	\$135.80

					Engineer's	s Estimate	She	elly & Sands,	Inc.	
Ref#	Item #	Description	Qty.	Units	Unit Price	Extension	Materials	Labor	Extension	Materials
27	810*	12" Hydrant Extensions	10	EA	\$1,000.00	\$10,000.00	\$362.50	\$362.50	\$7,250.00	\$148.96
28	810*	18" Hydrant Extensions	5	EA	\$1,500.00	\$7,500.00	\$375.00	\$375.00	\$3,750.00	\$154.56
29	810*	24" Hydrant Extensions	5	EA	\$1,800.00	\$9,000.00	\$387.50	\$387.50	\$3,875.00	\$166.04
30	811*	Increase or Decrease In Excavation and Backfill	150	CY	\$50.00		\$22.50		\$6,750.00	\$29.12
31	815	Crushed Stone or Gravel	92	CY	\$65.00	\$5,980.00	\$42.50		\$7,820.00	\$32.20
32	Special	Sediment and Erosion Control	1	LS	\$12,500.00	\$12,500.00	\$7,500.00	\$7,500.00	\$15,000.00	\$3,397.52
33	Special	Temporary Seeding	2,448	SY	\$1.75	\$4,284.00	\$0.50	\$0.50	\$2,448.00	\$1.32
34	Special	Permanent Pavement	1,392	CY	\$200.00	\$278,400.00	\$104.50	\$104.50	\$290,928.00	\$66.64
35	Special	Heat Welding	222	SY	\$75.00	\$16,650.00	\$30.00	\$30.00	\$13,320.00	\$17.64
36	Special	Survey Coordinates	1	LS	\$18,000.00	\$18,000.00	\$1,000.00	\$36,500.00	\$37,500.00	\$396.48
37	Special	Project Identification Signs	9	EA	\$750.00	\$6,750.00	\$425.00	\$425.00	\$7,650.00	\$238.84
		SUBTOTAL:				\$3,718,150.00			\$3,867,841.50	
38	SPEC	CONTINGENCY (10%)				\$371,815.00			\$386,784.15	
		GRAND TOTAL:				\$4,089,965.00	\$4,254,625.65			
	% ]	DIFFERENCE FROM ENGINEER'S ESTIMATE					4.03%			
		% DIFFERENCE WITHIN LOWEST BIDDER					4.06%			
		Contract Compliance No.					31-435120	61 (exp. 3/1/2	0, MAJ, 6043)	31-10290

MBE: Lionel Construction	1.4%	MBE: Bakar
FBE: M.S. Trucking	1.1%	FBE: J.N. Gr

Shelly & Sands, Inc.

Danbert, Inc.

1515 Harmon Ave.

Columbus, OH 43223

Plain City, O

Jeffrey T. Schultz, Asst. V.P.

(614) 444-5100

j.schultz@shellyandsands.com

Danbert, Inc.

8077 Memor

Ratthew J. L

(614) 873-46

mlemon@da

ORD #1732-2018, Division of Water Sale Road Area Water Line Improvements C.I.P. No. 690236-100079, Contract No. 2054 Bid Tabulation, Opened 6/6/18

					Engineer's Estimate Danbert, Inc.			c <b>.</b>	Conie Constructi	
Ref#	Item #	Description	Qty.	Units	Unit Price	Extension	Labor	Extension	Materials	Labor
1	254	Pavement Planing, Asphalt Concrete	21,002	SY	\$2.25	\$47,254.50	\$2.66	\$77,707.40	\$0.00	\$2.05
		Driveway Pavement Replacement, Type IIIA								
2	259	(Asphalt)	72	CY	\$550.00	\$39,600.00	\$225.36	\$22,536.00	\$125.00	\$190.00
		Driveway Pavement Replacement, Type IIIA								
3	259	(Asphalt), As Per Plan	6	CY	\$550.00	\$3,300.00	\$393.12	\$3,276.00	\$125.00	\$190.00
		Driveway Pavement Replacement, Type IIIB								
4	259	(Concrete)	13	CY	\$750.00	\$9,750.00	\$312.48	\$5,642.00	\$150.00	\$215.00
		Driveway Pavement Replacement, Type IIIC								
5	259	(Gravel)	93	CY	\$175.00	\$16,275.00	\$97.92	\$12,648.00	\$30.00	\$5.00
6	407	Tack Coat	3,150	GAL	\$2.75	\$8,662.50	\$2.05	\$8,977.50	\$2.00	\$3.50
		Asphalt Concrete Surface Course (Medium								
7	448	Traffic), PG64-22	876	CY	\$200.00	\$175,200.00	\$154.08	\$187,464.00	\$125.00	\$50.00
8	608	Concrete Walk (4")	1,997	SF	\$12.00	\$23,964.00	·	\$25,961.00	\$1.55	\$5.20
9	614	Maintaining Traffic	1	LS	\$85,000.00	\$85,000.00	\$138,990.96	\$193,043.00	\$10,000.00	\$70,000.00
10	615	Temporary Pavement	5,008	SY	\$5.00	\$25,040.00	\$0.83	\$5,759.20	\$4.00	\$1.00
11	632	Loop Detector, As Per Plan	6	EA	\$1,500.00	\$9,000.00	\$1,778.40	\$14,820.00	\$1,200.00	\$1,200.00
12	659	Seeding and Mulching	2,448	SY	\$10.00	\$24,480.00	\$2.56	\$8,690.40	\$1.75	\$3.25
13	801	4" Water Pipe and Fittings	9	LF	\$95.00	\$855.00	\$309.60	\$3,870.00	\$25.00	\$75.00
14	801	6" Water Pipe and Fittings	536	LF	\$110.00	\$58,960.00	\$87.12	\$64,856.00	\$40.00	\$160.00
15	801	8" Water Pipe and Fittings	16,773	LF	\$110.00	\$1,845,030.00	\$91.44	\$2,130,171.00	\$40.00	\$125.00
16	801*	Ductile Iron Fittings, Increase or Decrease	4,500	LBS	\$2.75	\$12,375.00	\$3.49	\$21,825.00	\$3.00	\$0.00
17	801*	Concrete Blocking Class C, Increase or Decrease	100	CY	\$115.00	\$11,500.00	\$112.32	\$15,600.00	\$100.00	\$0.00
18	802	6" Valve and Appurtenances	38	EA	\$1,375.00	\$52,250.00		\$55,936.00	\$1,000.00	\$200.00
19	802	8" Valve and Appurtenances	27	EA	\$1,650.00	\$44,550.00	\$1,279.44	\$47,979.00	\$1,300.00	\$200.00
20	805*	Curb Box	438	EA	\$105.00	\$45,990.00	\$87.12	\$52,998.00	\$95.00	\$15.00
21	805	3/4" Water Service Tap, Transferred, Long	208	EA	\$1,850.00	\$384,800.00	\$1,350.00	\$390,000.00	\$300.00	\$1,200.00
22	805	3/4" Water Service Tap, Transferred, Short	228	EA	\$1,350.00	\$307,800.00	\$977.04	\$309,396.00	\$250.00	\$750.00
23	805	1-1/2" Water Service Tap, Transferred, Short	2	EA	\$1,500.00	\$3,000.00	\$1,425.60	\$3,960.00	\$700.00	\$1,800.00
24	807*	C.I. Ferrule Valve Box and Cover	11	EA	\$100.00	\$1,100.00		\$2,222.00	\$55.00	\$5.00
25	809	Fire Hydrant	37	EA	\$2,800.00	\$103,600.00	\$1,553.04	\$79,809.00	\$1,250.00	\$1,500.00
26	810*	6" Hydrant Extensions	5	EA	\$450.00	\$2,250.00	\$349.20	\$2,425.00	\$315.00	\$5.00

			Engineer's Estimate Danbert, Inc.		•	Conie Constructi				
Ref#	Item #	Description	Qty.	Units	Unit Price	Extension	Labor	Extension	Materials	Labor
27	810*	12" Hydrant Extensions	10	EA	\$1,000.00	\$10,000.00	\$383.04	\$5,320.00	\$290.00	\$5.00
28	810*	18" Hydrant Extensions	5	EA	\$1,500.00	\$7,500.00	\$397.44	\$2,760.00	\$330.00	\$5.00
29	810*	24" Hydrant Extensions	5	EA	\$1,800.00	\$9,000.00	\$426.96	\$2,965.00	\$375.00	\$5.00
30	811*	Increase or Decrease In Excavation and Backfill	150	CY	\$50.00	\$7,500.00	\$74.88	\$15,600.00	\$17.00	\$8.00
31	815	Crushed Stone or Gravel	92	CY	\$65.00	\$5,980.00	\$82.80	\$10,580.00	\$35.00	\$5.00
32	Special	Sediment and Erosion Control	1	LS	\$12,500.00	\$12,500.00	\$8,736.48	\$12,134.00	\$4,000.00	\$1,000.00
33	Special	Temporary Seeding	2,448	SY	\$1.75	\$4,284.00	\$3.38	\$11,505.60	\$0.30	\$0.70
34	Special	Permanent Pavement	1,392	CY	\$200.00	\$278,400.00	\$171.36	\$331,296.00	\$145.00	\$255.00
35	Special	Heat Welding	222	SY	\$75.00	\$16,650.00	\$45.36	\$13,986.00	\$5.00	\$36.00
36	Special	Survey Coordinates	1	LS	\$18,000.00	\$18,000.00	\$1,019.52	\$1,416.00	\$0.00	\$7,000.00
37	Special	Project Identification Signs	9	EA	\$750.00	\$6,750.00	\$614.16	\$7,677.00	\$500.00	\$275.00
		SUBTOTAL:				\$3,718,150.00		\$4,162,811.10		
38	SPEC	CONTINGENCY (10%)				\$371,815.00		\$416,281.11		
		GRAND TOTAL:				\$4,089,965.00	\$4,579,092.21			
	% ]	DIFFERENCE FROM ENGINEER'S ESTIMATE					11.96%			
	·	% DIFFERENCE WITHIN LOWEST BIDDER					11.99%			
		Contract Compliance No.					04 (exp. 7/6/1	8, MAJ, 4618)	31-080090	4 (exp. 3/2/1

r	1.6%
aham Truckir	1.7%

ial Dr. H 43064 emon, President 77 anbertinc.com

ORD #1732-2018, Division of Water Sale Road Area Water Line Improvements C.I.P. No. 690236-100079, Contract No. 2054 Bid Tabulation, Opened 6/6/18

					Engineer's	Estimate	on Co.
Ref #	Item #	Description	Qty.	Units	Unit Price	Extension	Extension
1	254	Pavement Planing, Asphalt Concrete	21,002	SY	\$2.25	\$47,254.50	\$43,054.10
		Driveway Pavement Replacement, Type IIIA					
2	259	(Asphalt)	72	CY	\$550.00	\$39,600.00	\$22,680.00
		Driveway Pavement Replacement, Type IIIA					
3	259	(Asphalt), As Per Plan	6	CY	\$550.00	\$3,300.00	\$1,890.00
		Driveway Pavement Replacement, Type IIIB					
4	259	(Concrete)	13	CY	\$750.00	\$9,750.00	\$4,745.00
		Driveway Pavement Replacement, Type IIIC					
5	259	(Gravel)	93	CY	\$175.00	\$16,275.00	\$3,255.00
6	407	Tack Coat	3,150	GAL	\$2.75	\$8,662.50	\$17,325.00
		Asphalt Concrete Surface Course (Medium					
7	448	Traffic), PG64-22	876	CY	\$200.00	\$175,200.00	\$153,300.00
8	608	Concrete Walk (4")	1,997	SF	\$12.00	\$23,964.00	\$13,479.75
9	614	Maintaining Traffic	1	LS	\$85,000.00	\$85,000.00	\$80,000.00
10	615	Temporary Pavement	5,008	SY	\$5.00	\$25,040.00	\$25,040.00
11	632	Loop Detector, As Per Plan	6	EA	\$1,500.00	\$9,000.00	\$14,400.00
12	659	Seeding and Mulching	2,448	SY	\$10.00	\$24,480.00	\$12,240.00
13	801	4" Water Pipe and Fittings	9	LF	\$95.00	\$855.00	\$900.00
14	801	6" Water Pipe and Fittings	536	LF	\$110.00	\$58,960.00	\$107,200.00
15	801	8" Water Pipe and Fittings	16,773	LF	\$110.00	\$1,845,030.00	\$2,767,545.00
16	801*	Ductile Iron Fittings, Increase or Decrease	4,500	LBS	\$2.75	\$12,375.00	\$13,500.00
17	801*	Concrete Blocking Class C, Increase or Decrease	100	CY	\$115.00	\$11,500.00	\$10,000.00
18	802	6" Valve and Appurtenances	38	EA	\$1,375.00	\$52,250.00	\$45,600.00
19	802	8" Valve and Appurtenances	27	EA	\$1,650.00	\$44,550.00	\$40,500.00
20	805*	Curb Box	438	EA	\$105.00	\$45,990.00	\$48,180.00
21	805	3/4" Water Service Tap, Transferred, Long	208	EA	\$1,850.00	\$384,800.00	\$312,000.00
22	805	3/4" Water Service Tap, Transferred, Short	228	EA	\$1,350.00	\$307,800.00	\$228,000.00
23	805	1-1/2" Water Service Tap, Transferred, Short	2	EA	\$1,500.00	\$3,000.00	\$5,000.00
24	807*	C.I. Ferrule Valve Box and Cover	11	EA	\$100.00	\$1,100.00	\$660.00
25	809	Fire Hydrant	37	EA	\$2,800.00	\$103,600.00	\$101,750.00
26	810*	6" Hydrant Extensions	5	EA	\$450.00	\$2,250.00	\$1,600.00

					Engineer's	s Estimate	on Co.
Ref#	Item #	Description	Qty.	Units	Unit Price	Extension	Extension
27	810*	12" Hydrant Extensions	10	EA	\$1,000.00	\$10,000.00	\$2,950.00
28	810*	18" Hydrant Extensions	5	EA	\$1,500.00	\$7,500.00	\$1,675.00
29	810*	24" Hydrant Extensions	5	EA	\$1,800.00	\$9,000.00	\$1,900.00
30	811*	Increase or Decrease In Excavation and Backfill	150	CY	\$50.00	\$7,500.00	·
31	815	Crushed Stone or Gravel	92	CY	\$65.00	\$5,980.00	\$3,680.00
32	1	Sediment and Erosion Control	1	LS	\$12,500.00	\$12,500.00	\$5,000.00
33	Special	Temporary Seeding	2,448	SY	\$1.75	\$4,284.00	\$2,448.00
34	Special	Permanent Pavement	1,392	CY	\$200.00	\$278,400.00	\$556,800.00
35	Special	Heat Welding	222	SY	\$75.00	\$16,650.00	\$9,102.00
36	Special	Survey Coordinates	1	LS	\$18,000.00	\$18,000.00	\$7,000.00
37	Special	Project Identification Signs	9	EA	\$750.00	\$6,750.00	\$6,975.00
		SUBTOTAL:				\$3,718,150.00	\$4,675,123.85
38	SPEC	CONTINGENCY (10%)				\$371,815.00	\$467,512.39
		GRAND TOTAL:				\$4,089,965.00	\$5,142,636.24
	% ]	DIFFERENCE FROM ENGINEER'S ESTIMATE					25.74%
	% DIFFERENCE WITHIN LOWEST BIDDER						25.78%
		Contract Compliance No.					9, MAJ, 4320)

General Info				
Number:	690236-100079			
Description:	Sale Road Area	Water Line In	nprovements	
Deadline:	2018-06-06 19:0	0:00 UTC		
Bids				
Business	Bid Total	Submitted at	Signed by	Opened at
Elite Excavating Co. of			,	2018-06-06 19:04:05
Ohio, Inc.	\$4,088,753.35	2018-06-06 18:	Dale Stevens	UTC
				2018-06-06 19:04:32
Shelly & Sands, Inc.	\$4,254,625.65	2018-06-06 18:	Jeff Schultz	UTC
				2018-06-06 19:03:17
Danbert, Inc	\$4,579,092.21	2018-06-06 14:	Matthew Lemon	UTC
				2018-06-06 19:03:36
Conie Construction Co.	\$5,142,636.24	2018-06-06 16:	Bill O'Malley	UTC